1015 B AEH F=H %ﬂﬁwﬁd_hiﬁ
?%E—F PR i ;J:’FF”E[ Ei— [T

ERECE
LI~ 5T —[/PFJgr FREE R - I -
HTF’%}FK FE e R R l*ﬁﬁl%?r “”ﬁﬁ:hﬁ%ﬁtﬁi EI =iy S R S
R PPRIFL 7oy T e Tpﬂf%v .ﬁfpnmfﬁma %’wW&%@Wi
10155 i BEk SR YRtisban Ul (VR RS H R -

Ty~ | VA

il Yo || R

2 fid 7= 5

.

WY R o

%%fﬂi‘} E!?i*ni:[;%ﬂfgﬁf:{ -

6

6 5
WY R T T 1 1

6 5

7 1

P SR AT TR fEH T

1
1
0
1
6
3* uiﬁ“’? s 35 30 5
S T o 3 3 0
7 ﬁrﬁJF“*& e i 15 14 1
7k WJ[/E’E FhEA T I 4 4 0
T*ﬁ?mﬂ e i 8 6 2
_ii‘@'ﬁ—[ FhEd 2 PR 7 6 2
éﬁ%w[affa?zwﬁ 2 2 0
%F@'J S RSN 8 6 0
(=587 AR 1@?4?w&ﬁﬂﬁ” = P 8 8 0
(TS0 REEAR T RS S A AR P e 5 4 1
("5 SR S SR AR 22 7 7 0
A Y e (i 17 13 4
Bl EL:@?‘%Hﬂ = 1 0 1 T [ 4
B[R - IR ES SR O 41 34 7
BIE EV‘V%‘ SR 7T RS 1 1 0
%’TH R fE O 29 25 4
%'TH EfEH T 1 1 0
o Jﬁi%éﬁfﬂ 7= 18 13 1
A s T 20 14 6
L5 & e 2 9 11 6 3)
I e Tl ?j 22 14 8
ErAVEFRES fpid 7= 7 6 1
FEES S P 21 16 5
FEE AR P AT 1 0
%%*’Nﬁ%‘”ﬁi%ﬁﬁf 4 2
%ﬂ%ﬁ ”7”}3{[ "’”ﬁ’”H A7 2 0




101588 B FoYRT Sh{% VS 5T R

Ak ?Hiﬁqﬁ-ﬁ%

R ZE] ~ R |y s

prar A N | EvESL , -
AR ; S x| PR S s
R g | e |PERCR W
:’\E‘,[gg_\e/{a r—)‘ H}:’\E‘,[ {,Gl’lﬁ"‘j:{ ?: = orl 2 1 l
:[\E‘,[ ‘ {}:E»[ Gcilﬁ'rj:{ 3}: - _Trl 2 2 O
%{ﬁﬂﬁ@?» “7“[‘2‘5% LEREHEA T2 A 1 1 0
il e Ut e 0 4 3 S UL E
T B R 12 11 1
i i, 6 5 1
#%b?mlp%ﬁ;»ﬁﬁi 7= 14 13 1
BT S B EhFsmRgE 1 7= PR 13 13 0
I S B T PR 2 2 0
BT S B EhFsapE 77 4qt 12 10 2
WS 2R EhTARgE A 22 eal e Rd 1 1 0
RIS A T 15 12 3
T 571 450 74




